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1.If there is any @ of the manager’s involvement, we need to follow up

swiftly and thoroughly.

(A) imply (B) implicit (C) implicated

(D) implication

2. A jar of dried basil or even a basil plant would be a more appropriate
than coriander.

(A) allocation (B) substitution (C) avoidance (D) register

3. There should be nothing exclusive or secret about planning.

(A) strategies (B) strategist (C) strategic

(D) strategize

4. The store has grown so rapidly that i1ts owner is planning to set up one
branch 1n Osaka and 1n Sapporo.

(A) another (B) one another (C) other (D) each other

5.Having looked at the sales figures for last year, there seems to be
of a discrepancy in the third quarter.

(A) nothing (B) something (C) everything (D) nothing

6. You have to fill out the tax form to the contract you received on
the first day.



(A) attaching (B) attach (C) attached (D) attachment

7.Ul developers had a hard time figuring out ___ the layout wasn t

exactly what they expected.

(A) which (B) why (C) when (D) where
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2. (B) »(A) »pe (B) & (C) w# (D) %35 basild k¥ ~ coriander 4 ¥

3. (D) »strive (verb) ¥ +* BM ; as much information as space permits %%

B LzFenfiin™ s 2 F e 79 Rl oo

4. (A) - another * # FzaH KX L3 A
o FEach other H_3 % g 2.3 4p - One another #_= iﬁé\
Hphmplga,5:3#@* o

iiﬁ I Fm?:}ﬁ > Other

» Something of a discrepancy 7 — & % — &g 4 5 something of +4

(B)
Bl el L) A

D.

% ¢

6. (C) > Y LA EHFELENEd » ZARTFL o &~ KE - which is
1s

attached to -+ f®which g o F T A oA E i Ao

T.(B) » AR LA RS 3 BB PR o Ewhy -
2020/04/04



